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void main( )

{
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#include <stdio.h>
void main()

{
printf(“Hello”);
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#include <stdio.h>

Void main()

{
Printf(“Hello

Welcome”);

}

#include <stdio.h>
Void main()

{

Printf(“Hello\I Welcome”);
}
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#include <stdio.h>
Void main()

{
tab < oyl 0 e,
Printf(“HeIIo\tWelcome”); > T
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void main()

{
}
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#include <stdio.h>
void main()

{

printf("Hello");
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(long int)
short 2 Kz 55 uono 32,767 -32,768
(short int)
char 1 Sl 127 ¢-128

float x;
X=2.3;

short ys;
ys=123;
ys=0x23;
char c;
c='a‘;
c=97;
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Nt X; short X;
x=2.3; x=3243243255556;
float x;
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void main()
{ -
INt X;
X=2+2;
}
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#include <stdio.h>
Void main ()

{
Int x=4;
Int y=5;
X=2;
y=X+2;
printf(“Result=%d”,y); ‘ by 685 3l 5y pus s oS5 imy 9000
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%of slis slas! float x=23.2;
printf(“%f”,x);
%c S char ch=‘B’;
char ch=66;
printf(“%c”,ch);
%oX geove 16 5l slas! int a=0x234;

printf(“%x”,a);
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e printf("%d”,23);
g oo W 23 -
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e printf(“%d",’a’);
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#include <stdio.h>
void main()
{
Nt X; R
scanf(“%d”,
printf(“%d”,(x*x));
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#include <stdio.h>
void main()
{ -

int x,y;

printf(“\nEnter two numbers”);
scanf(“%d%d”,&x,&Y);
printf(“The sum=%d",(x*y));
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scanf(“%d”,&x);
scanf(“%d”,&y);
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#include <stdio.h>
void main()
{
char cl1,c2;
scanf("%c%c",&c1,&c?2);
printf(*%c%c",cl,c2);
} S gw (0 W ou 8 )19 5 G141 31 (S Leid &5 S (o A Mo b g (51 2! Pl o



9939 Hb

s ol Zycds o

&5 AL 3 Joxo J>19 30 a0 9419 ScaNf gl 2! pld 0 &5 I oold -
AT & L PIINTT g S g (0 0 pd f@o&‘?scanf”—ué gel”
WS (0 D> jgilo g9 99410 0 9 pais Sl @‘,‘w‘ommwu

b old Ly ¢ (2 Wio) 551,55 &St Lo scanf (gl > Jlo (9l g0 -
b dhold 4351 & 4> 3 ,’je’a;a,',',(b M...o)m;;', sas 3 ENTER
a5 3100 45 8,1g 551, ub@!,,am,ﬂ S og 281 ,aENTER
u,:@,‘,sscan%,sb,afp

Sgw o W (ENTER L) abold g a s Jol 551,55 G g0 printf gl ! ol -
"’9"‘«5‘“““’ ;);h 3390 551,55 5

P Ol (o0 S 38 51y -

scanf(“%c%c%c”,&cl,&c2,&c3);
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#include <conio.h>
#include <stdio.h>
void main()
{
char ch;
ch=getche();
printf("\n%c",ch);
}
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#include <stdio.h>
Void main()

{

float num=3.4;
printf(“%f",num);
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int x=23; int x=23;

printf(“%5d”,x); printf(“%-5d”,x);
2 |3 2|3

float x=2.3; float x=2.3;

printf(“%7.3f" x); printf(“%-7.3f",x);

2|.13|0/0 2(.13/0]0




int x=123456;
printf(“%3d”,x);

float x=23.456;
printf(“%.2f",x);

float x=23.456;
printf(“%2.2f",x);
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#include <stdio.nh>
void main()

{

Int 1=0;
printf("%d", ++); > (PR
}
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- scanf(“%f’,&d);
Rad o o
- R=(3.14/180)*d;
Rl o
— printf("%f",R);
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#include <stdio.h>
void main()

{
float d,R;

printf("Enter a angle in degree:");
scanf("%f",&d);

R=(3.14/180)*d;

printf("It is %.2f radian",R);
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#include <stdio.h>

void main()

{
float x=3.141592/2;
float A=x-(x*x*x)/(1*2*3)+(X*X*X*x*x)/(1*2*3*4*5),
float E=1-A;
printf(" The sin(pi/2) by use of 3 terms=%f",A);
printf("\nThe error=%f" E);
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#include <stdio.h>
void main()
{
Int a,;
printf("Enter a number");
printf("\nThe program will print O if it is dividable by 2");
printf("\nand 1 if not:");
scanf("%d",&a);
printf("%d",a%?2);
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#include <stdio.h>
Void main()

{ D9 Wlg> | dus (295
printf(“%d”, (3= 4)); 399 WS ¢ SUE D9y
}
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X x>0
:\x\:

—X X<0

#include <stdio.h>
void main()

{

float x;
scanf(“%f”,&x);

?7?

}
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if (x<0)
y=-X;

if (x<0)

{
y=-X,
zZ=y+1;

}

C, s Slygiws

if (il & )
Igwd Wi b Sy

else
2900 > LS9

if (x<0)
V=25

else
y=X;

if (x<0)
{
y=-X,
z=y+1;
}

else
y=X,
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#include <stdio.h>
void main( )
{
float x;
printf("Enter the number:”);
scanf(“%f”,&x);
if (x<0)

printf(“%f",-x);
else

printf(“%f”,x);
}



include <stdio.h>
void main()
{
float x;
inty;
printf("Enter a number:");
scanf("%f",&x);
if (x>0)
{
y=1,

printf("its sign=%d",y);

b

else
if (x<0)
{
y=-1;

printf("its sign=%d",y);

}

else
printf("its sign undefined");

}
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1 x>0
sign(x) =<-1 x<0
undefine x==0
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X=-3;
If (x>=0)
If (x>=12)
printf(“X is greater than or equal 127);
else
printf(“"X is less than 12 and greater than 07);
else
printf(“X is less than 0”);

X is less than 0 (g
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X=-5;

If (x>=0)

d

if (x>=12)

printf("x is greater or equal than 12%);

;

else

printf(“x is less than 07);
w Wg> Wl X is less than 0 o yle



switch-case yguws

switch (yS51,55 4 guno Egi 31 i)
{
case p51,l5 L zuno Sust
(1) ygaws
break;
case y51,05 L zuxo dus:
(1) ygows
break;

1921 3T J&18 Oy gawd it cgllao b case ‘;A sinio b
Sgw (w0 1 21 default
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3wl 933090 &) ygiwd (3l (5 p 9

awlio B case yo 99> ;awbw,!mb,m

gwd B case )1 S zud b @l pus O 390 48 Sgw (o
. o ‘S)ly" default M QO)ST

o B CasE O ygiwd o bo {} 9918 18 @ (g3
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X=1;

switch(x)

{

case 1:
printf(“*”);
break;

case 2:
printf(“**”);
break;

case 3:
printf(“***”);
break;

default:
printf(“Error”);

}
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char x="b;
switch(x)
{ (]
case ‘a’:
printf(“%d”,’a’);
break;
case b’:
printf(“%d”,’b’);
break;
}
)UM#‘)‘S‘QW}QO% ‘S'J)wSWItCh ”J.wé 3%@0& o
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switch (line)

.........

towl Lol J iS5 ol
2998 Lt 5131 p 9 (Bawmg @
If (y==1) yjo break yomwd 45 W9 00 o5
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#include <stdio.h>
void main()

{ A a
int i;
=0
45 .
printf(“%d”,i); > S
I++:
printf(“%d”,i);




for yomws

for (1 jomws; ilawo o s ¥ o)
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for (1=0;i<2;i++)
printf(“\n%d” ,i);
=0 1
omdlo y0 0 S g dgw (0 sl 21 Printf youwd cuwl <2 ut v
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#include <stdio.h>
void main()
{
Int i=0;
for (i=1;i<=100;++i)
printf("\n%d" ,1);
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scanf(“%d”,&i);
if (1I>0)
for(j=0;j<i; ++j)
printf(“\n%d”,j);
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#include <stdio.h>
void main()

{ g o

Inti;

float sum;

float x;

sum=0;

for (i=0;i<100; i++)

{
scanf(" %f", &x);
sum+=x;

}

printf(" The result=%f",sum);



(nested for)giyoe s adl>

WD Zuogi 1y pyalipd Shos o
for (1=0;1<3;++1)
for (j=0;j<2;++)
printf(“*");
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for (i=
forg:O;kB;”i) o
pri =0;]<2;++] X
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for (i=0;i<3;++i)
for (j=0;j<i;+4)
printf(“*”);
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#include <stdio.h>
void main()
o
inti,;
for (I=1;i<=10;++i)
{

printf("\n");

for (j=1;)<=10;++j)

printf(" %d\t",(1*]));
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#include <stdio.h>
#include <conio.h>
void main()
{
char ch;
float x,sum=0;
for (ch="y";ch=="y';ch=getche())

{
printf("\nEnter a number:");
scanf(" %f",&Xx);
sum+=x;
printf("To continue press y: ");
}

printf("\nThe sum=%f",sum);

}
5 55 SIS & gase A3 Ui 1Y 3 b SlS 115 45 ko g iS00 S W3 o LD 1,y )15 45 (Sile; 6 aal
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#include <stdio.h> #include <stdio.h> #include <stdio.h>
void main() void main() void main()
{ { {
int i=3; Int i; Int i;
for (;i<7;++i) for (1=3;i<7; ) for (I=3;;i++)
{ { {
printf(" %d\t",i); printf(" %d\t" ,i); printf(" %d\t",i);
} i++; }
} } }
}
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#include <stdio.h>
void main()
{ 5
Int m,n;

for (m=1,n=8; m<n;m++,n--)
printf("m=%d , n=%d\n",m,n);



while giws

while (! awslio & 1)
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1=0;
while (i<4)
{
printf(“%d”,i);
|++:

Sgw (0 0918 ylid yomilo (590123 O yls
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#include <stdio.h>

void main()

{
e 398 (g0 4 55 SIS WIS SLREH 1,y )5 &5 Silo 6
AR o o0 Ty > 1Y 51 e Gl g oI b
while (ch=="y") Sgw (0 D> wolio 0> Job> g
{

printf("\nEnter a number: ");
scanf("%d",&num);
sum+=num;
printf("\ncontinue(enter y/n):");
scanf("\n%c",&ch);

}

printf("The result= %d",sum);

}
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do-while ,gws

do
(©1) yoowed
while (! amslio & 1Ls):
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#include <stdio.h>
void main()
{
char ch;
int num,sum;
sum=0;
do
{
printf("\nEnter a number: ");
scanf("%d" ,&num);
sum+=num;
printf("\ncontinue(enter y/n):");
scanf("\n%c",&ch);
}
while (ch=="y");
printf(" The result= %d",sum);

}



break ygwmwsd
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#include <stdio.h>
void main()
{ .
Int t;
for (t=0;t<100;t++)
{
printf(“%d”,t);
if (t==5)
break;
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#include <stdio.h>
#include <math.h>
void main()

{

float a,b,c,x1,x2,delta;

printf("Enter the coefficients");

printf("\na=");

scanf(" %f" ,&a);

printf("b=");

scanf(" %f",&b);

printf("c=");

scanf(" %f",&c);

delta=b*b-4*a*c;

if (delta>0)

{
x1=(-b+sqrt(delta))/(2*a);
x2=(-b-sqrt(delta))/(2*a);
printf("x1=%.2f\tx2=%.2f" x1,x2);

}
else
if (delta==0)
{
x1=-b/(2*a);
printf("x1=%.2f" ,x1);
}
else

printf("No root");
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#include <stdio.h>
#include <math.h>
void main()
{
float x,y,r teta;
printf("Enter (x,y)\n");
printf("x="
scanf(" %f" ,&x);
printf("y=");
scanf("%f",&y);
r=sqrt(x*x+y*y);
If (x>0 && y>=0) || (x>0 && y<0))
teta=atan(y/x);
If (x<0 && y>0)
teta=atan(y/x)+3.141592;
if (x<0 && y<=0)
teta=atan(y/x)-3.141592;
if (x==0 && y>0)
teta=3.141592/2;
if (x==0 && y<0)
teta=-3.141592/2;
printf("polar cordinate:\n");
printf("r=%.2f"r);
printf("\nteta=%.2f radian\n" ,teta);
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#include <stdio.h>
void main()
{
int a,b,c;
printf("Enter 2 number. at first enter the larger\n");
printf("Number 1:");
scanf("%d",&a);
printf("Number 2:");
scanf("%d",&b);
while (a%b !=0)
{
c=a%b;
a=b;
b=c;
}
printf("The GCD=%d",b);
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#include <stdio.h>
#include <windows.h>
void main()

{

Int hour=0,minute=0,second=0;
Int i;
for (;;)

{

printf(" %d:%d:%d
second++;
If (second==60)
{
second=0: minute++;
}
If (minute==60)
{

}

If (hour==24)
hour=0;

for (i=0;i<11;++i)
printf(”\b");

Sleep(1000);

minute=0: hour++:

",hour,minute,second);
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#include <stdio.h>
#include <windows.h>
void main()
{
int hour=0,minute=0,second=0;
int i;
int h,m,s;
printf("Set time to ring\n");
printf("Hour=");
scanf("%d",&h);
printf("Minute=");
scanf("%d",&m);
printf("Second=");
scanf("%d",&s);
for (;7)
{
printf("%d:%d:%d ", ,hour,minute,second);
If (hour==h && minute==m && second==s)
printf("\a\a");
second++;

If (second==60)

{
second=0:;: minute++;

}
if (minute==60)

{
minute=0; hour++;

}

if (hour==23)
hour=0;

for (i=0;1<11;++i)
printf("\b");

Sleep(1000);

}

}
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#include <stdio.h>
#include <stdlib.h>

void main()

{int x,y,i;
x=rand()%1001;
for(i=0;i1<13;i++)
{

printf("\n Guess %dth number:",(i+1));

scanf("%d",&y);
{

printf("\nyou win'

break:

}
If(x>y)

if (x==y)
);

FYVZY G o e Solai olustrand()
rand()%1001 ausd 48 NS (o0 W oS
WS (oS gi Yeee B o g Bl dlust

printf("\nthe number is greater than you entered");

if(x<y)

printf("\nthe number is less than you entered");

}
if(i==13)
printf("you loss");

}
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Oy g (5 g 9 b 26 Aasld 53w o3l [N\ Tt
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| ’ m— return y;
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float func (float num)
{
float result;
If (num < 0)
result=-num;
else
result=num:;
return result;

}
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float func (float num)

{

If (num < 0)
return —num:;
else
return num;
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#include .....
#include ....

void main()

{

&0 9 5 41 8 oo

float f (float x)
{
float y;
y=X*X;
return y;

}
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#include <stdio.h>

float f (float x) 48 Sloj aoby gl plia Jlo (! 48
{ 9939 &1y 4T Qb paw 3 (o QU Jla>! jgawd
float y; o W g2 dwwlo X=3.5
y=X*X; S ani a2 d " | (RO JCRA KV-FY
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}

void main()

{

float z; 6 oo
z=1(3.5): | & B)

printf(“%f”,z); R o 2~
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float average (int n)
{ 7 A
inti;
float x,sum=0;
for (i=0;i<n;++i)
{
scanf(“%f”’,&x);
sum+=x;

}

return (sum/n);

}
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#include <stdio.h>
float average (int n)
{ . 3
Int i
float x,sum=0;
for (I=0;i1<n;++1)
{
scanf(“%f”’,&x);
sSuUm+=x;

}

daliys dals|
return (sum/n);

}

void main()

{
}

printf(“%f”,average(3));
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#include <stdio.h>
float average (int n)
{ . 3
Int i
float x,sum=0;
for (I=0;i1<n;++1)
{
scanf(“%f”’,&x);
sSuUm+=x;

}

dols 9 dofo!
return (sum/n);

}

void main()
{
Int p;

scanf(“%d”,p)
printf(“%f”’,average(p));
}
el 40 45 ©glai (1 b o Jud Jlio wline
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Int max (int x, int y)
{
It (x>=y)
return x;
else
return vy,

}
WO 5 o9 ly0us g0 pow o QU
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#include <stdio.h>
Int max (int x, int y)
{
if x>=y
return Xx;
else
return y;

dols g dofof

void main()

{

Int z,s;
scanf(“%d%d”,&z,&s);
printf(“%d”,max(z,s));

}
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#include <stdio.h>
long fact(int n)
£
inti;
long result=1;
for (i=1;i<=n;++i)
result*=i;
return result;

}

float pow(float x, int n)

Gk

Int j;

float ret_val=1;

for (J=0;j<n;++))
ret_val=ret_val*x;

return ret_val,

}

float exp(float x, int m)

{
int k;

float res=1;

for (k=1;k<=m;++Kk)

res+=pow(x,k)/fact(k);

return res;

}

void main()

{
}

printf(" %f",exp(2,10));
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long fact(int n) <5
{
inti; et P etk o
long result=1; O g
for (i=1;i<=n;++i)
result*=i;
return result;
}
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float pow(float x, Int n) [ Zuo SUE g X Awi> dus POW A

{ WS (0 Al 15 X9 O 3 (0 15

Int |

float ret_val=1;

for (j=0;j<n;++)
ret_val=ret val*x;

return ret_val,;

}




float exp(float x, int m) x0O x1 x2 x3

N A
{ St e i
Int k;
HOGVTES 35 m QNS g X (A QNS ¢ EX G
for (k=1;k<=m;++Kk) ¢t R P&

rest=pow(x K)fact(k), W oo dmbe |yl akuly g0 5 (0 |
return res;

}
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#include <stdio.h>
#include <conio.h>
int check_password () & intcheck password (void)
{
char c1, c2,c3;
cl=getche();
c2=getche();
c3=getche();
if (c1=="A’ && c2==B’ && c3==‘C’)
return 1;
else return O;

}

void main()

{

int s=check_password();
if (s==1)

printf(“Correct password”);
else

printf(“Incorrect password”);

}
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#include <stdio.h> Y A 4 ¢ 3
void ave (intn) t .é“):é" ret_urn “G“S:”‘J‘ Q.)S:” &b
{ _ D gw (0 dw g VOIU (S g9 £ R 49
float x,sum=0;
inti;
for (i=0;i<n;++i)
{
scanf(" %f",&x);
sum+=x;
}
printf(" %f",sum/n);
}
void main ()
{
ave(3);

}
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#include <stdio.h>

void header () 4 void header(void)

{
printf(“This program is written by Rouhollah Dianat”);
printf(“\nAs a part of computer programming course’);
printf(“\nfall 2006”’);

}

void main()

{
header();
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#include <stdio.h> void main ()

void ave () {

iy ave();
inti,n; }

float x,sum=0;
printf("\nEnter a number:");
scanf("%d",&n);
for (I=0;i<n;++i)
{
scanf(" %f" ,&x);
sum+=x;

}
printf(" %f",sum/n);
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iInt main( )

return O;
}
Dgu (0 0010 S 93 Jole v 4 MAIN (i 9 yINi0
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< Borland C++ User's Guide

File Edit Bookmark Options Help

Contents Index Back Print £< > Book Shelf
sin

see also Example Portahility

Syntax

#include <math.h>
double sini(double x):

Description
Calculates sine.

sin computes the sine of the input value. Angles are specified in radians.

ol 0w 0018 L sin a6 gl pborland ¢ s help S 4o
&9 31 699)9 N b .cwldouble s g yInio g3 &5 dgu o da>No
9930 U 4 SN awmbxo 519 9910 double

wwimath.h g &6 9t header file
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#include <stdio.h>
#include <math.h>
void main ()

{
printf("%f",sin(3.141));
}
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#include <stdio.h>
#include <math.h>
float f(float x)

{
}

return (pow(x,2)+1);

float f _prime(float x0)
{
float res;
float h=0.0001;
res=(f(x0+h)-f(x0))/h;
return res;

void main()

{
}

printf("%f" ,f _prime(1));
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#include <stdio.h>
#include <math.h>
float f(float x)

{
}

return (x*sin(x)+1);

float f_prime(float x0)

{

float res;
float h=0.0001;

res=(f(x0+h)-f(x0))/h;

return res;

float f second(float x0)

{

float res;

float h=0.0001;
res=(f_prime(x0+h)-f_prime(x0))/h;
return res;

}

void main()

{
}

printf("%f",f_second(3));
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#include <stdio.h> ‘ f (Xn)‘ <0.5%107%,List pd, V¥ C80 1 4iS3)
#include <math.h>

float f(float x) float root()

{ {

float y=x*sin(x)-1; float x0=1,x1;

return y: floqt d=fabs(x0);

y while (fabs(f(x0))>=0.5e-3)
float f_prime(float x0) { x1=x0-f(x0)/f_prime(x0):
{ x0=x1;

float res; }

float h=0.001; return x0;}
res=(f(x0+h)-f(x0))/h; void main()

return res; {

} printf("%f" ,root());}
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#include <stdio.h>
#include <math.h>
float f (float x)

{
}

return x*sinx+1;

float integral(float a, float b,int n)
{
int i;
float p=a;
float sum=f(p);
float h=(b-a)/n;

for (i=1;i<n;++i)
{
p=p+h;
sum=sum+2*f(p);
}
sum=sum-+f(b);
return(h/2*sum);
}
void main()
{
printf(“%f”,integral(1,3,10));
}
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#include <stdio.h>
void func (int z)
{

inty; S yi 5 gilo (595 3 oo D> 1o 3 Mg

y=2*z; V7 & g (oo ol Main @b 0 owd i iy slndo (i O dus
} i func )ébé&h:ﬂ“ﬂy)‘MJ
void main ()
{
inty;
y=9;
func (6);

printf("%d",y);
}
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#include <stdio.h> 3 gl o 901y Pyl (Y Jbo @
void func (int z)
el

y=2*z;

}

void main ()
{func(3);
printf("%d",y);
}
o apfgd 5 ) Mbels slbas b 4190 40l (0!
y: undeclared identifier
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#include <stdio.h> ko) g 4 48 ol Jxo Y ¢fuNc Qb 4o
void func (int z) a5 89 9.9,19 9929 cuwl 21 Jb> o func &

{ 993 0 o 3l dgw o plod fuNC (51 21
Inty; ! ol printf(“%d”,y) jouwd cds wod &
Y=7*Z; S Sl 1y T printf a5 9,005 9929 1Y 92
}

void main ()

{

func(3);

printf(" %d",y);
}



#include <stdio.h>
void func (int z)
{

Inty;

y=2%Z;
}
void main ()
{
Inty,
y=9;
func (6);
printf("%d",y);
}
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#include <stdio.h>

long fact(int n) e e SR N0 B
{ ol 00 5 Jlally wdg> o>
if (n==0)
return 1;
else
return (n*fact(n-1));
}
void main()
{
printf("%d" fact(2));
}
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#include <stdio.h>
long fact(int n)
{

if (n==0)

return 1;
else
return (n*fact(n-1));

}

void main()

{
}

printf("%d" fact(2));

func(2)
n=2
return (2*fa(it(l))

&

: T

A 4

func(l)
n=1

return (1*faft(0))

main 4 2 <& 4

*

A 4
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#include <stdio.h>
float pow(float x, int n)

{
If (n==0)
return 1;
else
return (x*pow(x,n-1));

}

void main()

{
}

printf(" %f" ,pow(2.5,2));
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#include <stdio.h>
#include <math.h>

Sl VulS Jlg jIsqrt b 1ass

float rad(float a , int n) .wwimath.h T header file g cw!
{ ool JBuoly ambo (ol 9 &6
if (n==1) 3
return sqrt(a); D 9w (0
else
return sqrt(a+rad(a,n-1));
}
void main()
{

printf("%f" ,rad(2,3));
}
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#include <stdio.h>
Int gcd(int a, int b)
{
if (b==0)
return a;
else
return gcd(b,a%b);

}

void main()

{
}

printf("%d",gcd(33,9));
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#include <stdio.h>
long fact(int.n) Eu —fact() fact(9)
{ longy; n=2 n=1 y=1
If (n==0) y=2*fac1t(1) y=1*fact(0) |- |return 1;
y=1; ) ‘ . ]‘} |
= y:

else { ¥“‘~:"% ) sus ol

y=n*fact(n-1) ratyrn 2 return 1;

printf(“%d”,y); .

}

returny; }
void main()

{printf("%d" ,fact(2));}
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move (int n,char source,char destination, char spare)
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#include <stdio.h>
void move(int n ,char source,char destination,char spare)

{
If (n==1)
printf("\nMove top disk from %c to %c",source,destination);
else

{
move(n-1,source,spare,destination);
printf("\nMove top disk from %c to %c",source,destination);
move(n-1,spare,destination,source);
}
}
void main()
{

move(3,'A','C','B");
}
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#include <stdio.h> |l fioat pow(float x, intn) || float exp(float x, int m)
long fact(int n) { {
‘_{ _ int j; int k;
Inti; float ret_val=1; float res=1;
g kesthites for (j=0;j<n;++j) for (k=1;k<=m;++k)
for (iI=1;i<=n;++i) ret_val=ret_val*x; res+=pow(x,k)/fact(k);
result*=i; return ret_val; return res;
return result; ] }
}
void main()
{
S AR _
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#include <stdio.h>

long fact(int n)

{inti;

long result=1;

for (i=1;i<=n;++i)
result*=i;

return result;}

float exp(float x, int m)
{ int k;

float res=1;

for (k=1;k<=m;++k)
res+=pow(x,k)/fact(k);
return res;}

float pow(float x, int n)

{int |;

float ret_val=1;

for (j=0;j<n;++))
ret_val=ret_val*x;

return ret_val;}

void main()

{

printf(" %f" ,exp(2,10));
}
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o oo A 985 T 3 L &5 I 40 ou ylast exp 4o pow ab
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Call to undefined function pow
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#include <stdio.h> long fact(int n) float pow(float x, int n)
long fact(int n); _ {int i; {int j;
float pow(float x, int n); | |ong result=1; float ret val=1:

for (i=1;i<=n;++i) for (j=0;j<n;++j)

float exp(float x, int m) result*=i; ret val=ret val*x;

L intk; R tosiity return ret_val;}

float res=1,

for (k=1;k<=m;++k) void main()
res+=pow(x,k)/fact(k); {

return res:} }printf("%f",exp(2,10));

31 00 5 Metexp 3 Jd 1, @T g Lol wif ouds & iexp sl amsfact gpow aled Jlo ol 49
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void main()
{

int X;

X=4;
}
9 i Oy 995 A G Aol S L dil> g b o 510 O ygawd -

N S 5 dils>
If (x==0)

return 1;
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#include <stdio.h>
long fact(int n) //This function compute factorial of n

{

If (n==0)
/[stop condition
return 1;
else
return n*fact(n-1); //Recursion formula
}
void main()
{

printf(“%d”,fact(2));
}
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float x;

sum=0;

for (i=0;i<5;++i)

{
scanf(“%f”,&x);
sum+=x;

}

ave=sum/5;
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float xO,x1,x2,x3,x4:

float ave,var;
scanf(“%f%f%f%f%f",&x0,&x1,&x%x2,&x3,&x4);
ave=(X0+x1+x2+x3+x4)/5;

var=(pow(x0-ave,2)+pow(x1l-ave,2)+pow(x2-ave,2)+pow(x3-
ave,2)+pow(x4-ave,2))/5;
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Void main()
{
float num|[3];
num|[0]=1.2;
num [1]=2;
num|[2]=3.4;
printf(“%f”’,num[1])
}

)
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Void main()

char c[4];

O O O

c[2]=‘A’;
0]
1]
3]

=£d!;
=£D!;
=getche();
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#include <stdio.h>
void main( )
{ C 3
int i;
int x[4];
for (i=0;i<4;++i)
scanf(“%f",&x[i]);
for (i=0;i<4;++i)
printf("\t%f”,x[i]);
}
,galaogg'p,.:431:3.\M@,'}XQ‘,T,.:SM@.;&Q,:!?.:%&'%
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#include <stdio.h>
#include <math.h>
void main()
{
float x[5];
float sum=0, ave;
int I;
for (i=0;i<5;++i)
{
scanf(“%f”,&x[i]);
sum+=x[i];
}
ave=sum/5;
var=0;
for (1i=0;i<5;++i)
var+=pow (x[i]-ave,2)/5;
printf(“The average=%f",ave);
Printf(“The variance=%f",var)

}
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#include <stdio.h>

void main()

{ inti;
float x[¥0];
float max;

int max_index;

for (i=0;i<¥0;++i)

{ printf("Enter number %dth:",(i+1));
scanf("%f" ,&x[i]);

}

max=x[0];
max_index=0;
for (i=1;i<¥0;++i)

if (x[i]>max)

max=x[i];
max_index=i;
}
printf("\nThe maximum=%f",max);
printf("\nAnd its index=%d" ,max_index);
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float x[10];
Int i;

for (i=0;i<10;++i)
scanf(“%f",&x]i]);
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float temp;
temp=x;
X=Y;

y=temp;
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#include <stdio.h>

void main()

B aintiss
float A[10];
float temp;

for (i=0;i<10;++i)
scanf(" %f" ,&A[i]);
for (1i=0;i<9;++i)
for (j=0;j<9-i;++j)
if (A[I]>A[j+1])

{
temp=A[j];
A[]=AD+1];
A[j+1]=temp;
}

for (i=0;i<10;++i)
printf("\n%f" A[i]);
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:getche b scanf Jao (59939 <l jomd b @
ch[0]=getche();
scanf(“%d”,&x[2]);
:W <R )‘s\iﬁ o
ch[0]="a’;
X[2]=23;
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Int x[3]={2,3,-5},
e g5 (o 318 X[3] 30— 9 X[1] 40 ¥ x[0] 40 ¥ Lt 4o
29590 s Jbo
float f[2]={0.34,4.33},
char ch[4]={'a’,’'d’,’x’,'V’};
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int x[2]={3,4,6,7,8}
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int x[3]={3,4}
Dow 0 X[2]=0 bt 4o
300 Jbo

int x[100]={0}
(Sl 4313 polis dod (385 10 (51 gy ) Mg 50 sh0 Lo aod
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float max(float x[10])
{
INt i
float max=x][0];
for (i=1;i<10;++i)
if (X[i]>max)
max=Xx][li];
return max;

}
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#include <stdio.h>
float max(float x[10])

{ C :
inti;
float max=x[0];
for (i=1;i<10;++i)
if (x[i]>max)
max=x[i];
return max;
}
void main()
{ . .
inti;
float A[10];

for (1I=0;i<10;++i)
scanf(" %f" ,&A[i]);
printf("\nThe maximum=%f" max(A)):
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#include <stdio.h> o 10 ) o Slowdy ygawd S iNClude wibo cdefine yguwee

#define SIZE 10 w‘
float max(float X[SIZE]) 5 : ) ¥

{ Vo ous (T > 4394 42150 SIZE b a5 4ol p s> 32 48 JholulS

int i ”

If?oallt max=x[0]; : o . .Mé‘s‘)‘ﬁ

for (i=1;i<SIZE; ++i) Sgw (o oWl (Constant) col &y b Mol SIZE-

L S 3 B95 b 6l P61, B b Y goro Cul of g 6l pute

return max; WS (0 A g

} GPwS o5 1 Wao e puts JIB g aols 99 40 Sl yInioe

void main() .é,&@éé‘éwmﬁ Mbﬁ L SIZE=23 Jff.o

G 301510 008 ! B Lgid S 415 005 Yo b it 93> Mo 51

float A[SIZE]; .mgi: B Y. & define

Tor SRl EE N w9 wed 99) cwld iNnclude udn yo define ygaws Jowos

scanf("%f",&A[i]); e Vol . ! )
printf("\nThe maximum=%f",max(A)); PR S |§ Jnﬁ M‘g) (P § e g0 define 9 include

} (W5 518
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int a[3];
o 00 o5 A g5 pais oyl b gint £o) yla plia gl alyT o
a[2] a[1] a[0]

LSS (o yid s il 3150 31 3l o0 4117 polis 4 @

a[0]=4;

scanf(“%d”,a[1]);

for (i=0;i<3;++i)
scanf(“%d”,&a[i]);
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float a[4]={4.34,9.45,3.23,1.02};

Wil gl 91 ,T (51 99 0 yasiino 03131 31 POlio Slus 457
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float a[3]={7.34,1.2,3.4,1.44};
A 40 so polio A (il JoS 0 j1ual 31 Yolko Sluei 51
float a|3]={2.34,3.23},;
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- scanf(“%s”,st) L scanf(“%s”,&st);
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char st[20]="Ali";
Sowl O g0 (WA AL oAl 85 909w @

Ol \0 Codls b &) (e—Eg) NULL 551U jb0s5 job v diy 2 slgdl 0C o
MRS (0 3191, (Sgw (0 0310
ol Gl 1515 310 1 gy (5 Ay S B9 Jeb amd 50 @

-
=
N

3

Al |1 |\0




4.l

ol 30 ¢ NULL 1,185 Sl 053483
PANt(“%C”,\0'): e Sgis (09 Pt (& 518
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#include <stdio.h>
void main()
{
char st[20]="Hello";
printf("%s",s);
}
ol Hello plaw 40 g (! (o2 9 32 ovw W i Hello ylwio b st pl @ (o 4w
Cwg) ) ygawd SY T, Aol g Y Ol g (o
printf(“%s”,”Hello”);
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#include <stdio.h>
void main()

{
char ch[4];

scanf("%s",ch);
printf("%s",ch);
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#include <stdio.h>
void main()
{
char str[23]="Hello";
printf(" %c" ,str[2]);
}
W pwd daw 3 Jo 10 o w51 B @ 4193 (0 ! oot b
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char s[8]="abc’;
.é;@)ﬁs}é NULL ‘)}0‘&@
char s[3]="aghugii’;
s
ool 43147 0 3101 (5ol disy .Y
char s[3]="ali’;
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#include <stdio.h>
int strlen(char str[20])
{
int i1=0;
while (str[i] '="\0")
i++;
return i;

}

void main()

{
char str[20];
scanf(" %s" ,str);
printf("%d" ,strlen(str));
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#include <stdio.h>
void main()
{
char str[20];
int i;
printf("Enter a string:");
scanf("%s",str);

1=0;
while (str[i] !'="\0")
{
if (str[i]>=97 && str[i]<=122)
printf("%c" ,str[i++]-32);
}
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x=strlen(“ali”);
printf(“%d”,x);
1wy Wb sl 9 puts
puts(“ali is a student”);
char ch[20]="ali;
puts(ch);
20 glai 90 b €8 410 printf wliw &9 JShos
.&béul&éblﬁﬁﬁhﬁéﬁb“‘ﬁ@,é’;@)U“m)&w‘s‘))wﬁ -
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char ss[20];
gets(ss);
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#include <string.h>

#include <stdio.h>

void main()

{
char s1[20]="Ali";
char s2[20]="Mehdi";
strcat(sl,s2);
strcat(s2,”\nhassan’’);
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